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To find the volume of a solid of revolution with the disk 
method, use one of the following:

Horizontal Axis of Revolution Vertical Axis of Revolution

𝑉𝑜𝑙𝑢𝑚𝑒 = 𝑉 = 𝜋න
𝑎

𝑏

𝑅 𝑥 2 𝑑𝑥 𝑉𝑜𝑙𝑢𝑚𝑒 = 𝑉 = 𝜋න
𝑐

𝑑

𝑅 𝑦 2 𝑑𝑦



Find the volume of the solid formed by revolving the region 
bounded by the graph of 𝑓 𝑥 = 2 𝑥, 𝑦 = 0 & 𝑥 = 9 about 
the 𝑥 − 𝑎𝑥𝑖𝑠. 



Determine the volume of the solid by rotating the 
region bounded by 𝑦 = 𝑥 𝑎𝑛𝑑 𝑦 = 3, about the 𝑦 −
𝑎𝑥𝑖𝑠.



Determine the volume of the solid by rotating the 
region bounded by 𝑦 = 𝑥2 − 4𝑥 + 5, 𝑥 = 1, 𝑥 = 4, and 
the 𝑥 − 𝑎𝑥𝑖𝑠 about the 𝑥 − 𝑎𝑥𝑖𝑠.



Use the washer method for solids of revolution with holes. 

𝑉 = 𝜋න
𝑎

𝑏

𝑅 𝑥 2 − 𝑟 𝑥 2 𝑑𝑥



Determine the volume of the solid by rotating the 

portion of the region bounded by 𝑦 = 3 𝑥 and 𝑦 =
𝑥

4
that lies in the first quadrant about the 𝑦 − 𝑎𝑥𝑖𝑠. 



Find the volume of the solid formed by revolving the 
region bounded by the graphs of 𝑦 = 𝑥 and 𝑦 = 𝑥2

about the x-axis. 


